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General Instructions :

1.
2.
3.
4

5.

There are 31 questions in all.

Marks for each question are indicated against it.

All questions are compulsory.

Write the same question number as given in the question paper while answering the
question in your answer book.

(i) Answer to MCQs of 1 mark each should be out of (a), (b), (c) or (d) only.

(i) Answer to each question of 3 marks should not exceed 60 words.

(iii) Answer to each question of 5 marks should not exceed 120 words.

Both the maps should be attached inside the answer book.
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Which one of the following is an example of metallic mineral? 1
(@) Silver (b) Lime Stone

(c) Sulphur (d) Coal
frefafed o 9 A o oifcsh @S 1 See Bl

(a) =idl (b) = W TR
(c) & (d) =
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2. In which type of farming farmers use all modern techniques of
agriculture to obtain maximum production from limited area.
(@) Extensive agriculture (b) Plantation agriculture

(c) Intensive agriculture (d) Shifting agriculture

= o 9 fhe YR &1 30 5 foham gt snefeh qeh-iehl 1 TarT & difa
87 W 9 affershad YR I Hd 2

(a) foega Ffu (b) T Hfy
(c) T&T FHf (d) Tomiad Hi

3. Which of the following statement is true about joint sector.
(@) The ownership and management is in the hands of the government
(b) It is owned and managed by an individual, family or a corporate body
(c) It is owned and managed by a group of people belonging to a corporate
sector.
(d) Itis owned and managed by the government and private sector. both.
fefafaa o | %9 @ S G &9 ® a1 § T B2
(a) THHT TMHE T Yoo THR o gl | gl )
(b) U Tfad T yaer foft, Wi storan amfess & 2
(c) THeh T T aEm el g = S 22
(d) U THE To Yao Foft 9o TR <A gR =Iem@n S 2|

4. Which one of the following states has the moderate density of population?

(@) Arunachal Pradesh (b) Bihar
(c) Uttar Pradesh (d) Chhattisgarh
fFrefafed T o o v 0 &1 SHEE ¥9a 79 @7
(a) STRUTEA Yo (b) feR
(c) STR Y& (d) ST g

5. Who among the following started Shuddhi Movement?
(@) Jyotiba Phule (b) Swami Dayanand Saraswati
(c) Mahatama Gandhi (d) Dr. Bhimrao Ambedkar
fFfafead 5 9 foeeae 3Ifg ofise™ =ermn or?
(a) SAIfqel el (b) Tl AT G
(c) WereH et (d) Sl e S
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6.  Which part of Delhi was selected for building the new capital of India by the

Britishers?
(@) Civil lines (b) Khyber Pass
(c) Raisina Hills (d) Delhi Contonement.
fSoetl & foh® 91T 1 9RA & 78 Y919 oAH & faw s g/ g1 107
(a) fafae @A (b) ®eR H
(c) T feeq (d) feeedt Bt
7. Resolution for Purna Swaraj was passed in which Session of the
Congress?
(@) Surat Session 1907 (b) Lahore Session 1929
(c) Nagpur Session 1925 (d) Calcutta Session 1906
‘quf T’ w1 TEE HIUE & fR9 99 H 9 foRer T
(a) T FF 1907 (b) WER T 1929
(c) AMYX §F 1925 (d) heshal 93 1906

8. In case the office of the President of India falls vacant, who takes over the
responsibility to officiate as President?
(@) Chief of Army staff of India
(b) Vice President of India

(c) Chief Justice of Supreme Court of India

(d) Prime Minister of India

I MRA & TG 1 95 o 81 S, d T2ufd & HEAYR 61 STEIe i
AT 22

(a) 9RG 1 o HATEAE

(b) WRA kT 39 Ul

(c) YRA & Waled A 1 &F =S

(d) WRA k1 YA

9.  Who preside over a Lok Adalat?

(@) The Session judge (b)  The District judge
(c) The Metropolitan Magistrate (d) A Retired judge
dich STSTeTd 1 HTe s g R S 272

(a) G = (b) TS =mneita
(¢) HWEMR HisEe (d) warfaed —amanete
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10. Which Union Territory of India has the highest percentage of population of

Scheduled Tribes?

(@) Andeman & Nicobar (b) Daman and DIU

(c) Lakshdeep (d) Dadra & Nagar Haveli 1
IRA & fhd S=enfgd ou o gfad SHefa & sHEeEn gfava geifas 22
(a) 31SHM RN (b) T feg

(c) weTga (d) T=A, TR T

11. Explain the geographical conditions required for cultivation of cotton with respect
to soil type, temperature and rainfall. 3x1=3

U 1 FH & AU g THR qa9EE qen awl @ Gefud Sravae Snfas
IIMAT 1 U Hiforg|

12.  Explain any three characteristics of extensive agriculture. 3x1=3

faega S =1 ff=l o foviwaet &t =men sifsm)

13. How can industries be classified on the basis of their size? Support your answer
with examples. 3

ST A ST H RN F R W fHE ThR ofihd fman ST Fehal 27 A
IR h1 GHYT IZEION R HiTIC

14. When and where was the first Iron & Steel Industry established in India?
Name any four important steel plants of India and the states in which they
are located? 1+2=3

qRd | e 3R Fal 999 U8 gl Erd U Lenfud fRar wE? vrd & Tt
TR Y@ T A % AW q41 39 & T fafey)

15. Explain any three reasons for the introduction of railway in India by the British. =~ 3x1=3
SFUSH G ARG H I ACEC hl GOH wE & fh= dF wron s e
it |

16. What were the two main objectives of sending the Simon Commission to India?

Why did the Congress decide to oppose it? 2+1=3
e < g el o Wi & fau gRue FHEE S 9Ra @S 7w |
91 foriy & o1 Foia &= feran?

17. Explain any three major challenges faced by India after Independence. 3x1=3
T Wit & 9% 9Rd < {1 i qea gafadl w1 S S ugl? S

I
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18.

19.

20.

21.

22.

23.

As Head of the Government, the Prime Minister of India enjoys the real powers."
Justify the statement with any three arguments.
“IHR B Y@ BF D A 9IRGB FHFHA SR Il ol STHNT

21" Tl d9 qof 0 39 HeM &1 gie sifu)

What is meant by the original jurisdiction. Mention any two type of cases that

can be heard by the Supreme Court of India.
wAfaE &R R | @ Ay 82 3heh Adiiq-wdied <A g’ g WM
et foh=gl S YR & HehgHl 1 Ioaid iy

What is prevention of Atrocities Act 1989? Mention any two offences punishable
under this Act.

FAER SHe A= 1989 91 82 $HS favid 3TH aled & JUSTa ST
1 IeeT@ DI

Which Fundamental Right works as a safeguard against the exploitation of children

and how?

TR F WO F fGEG STh G TG RIA A AR STHHER HE war €
qo HY?

Why should we prefer non conventional sources of energy over conventional

sources of energy? Explain with any three suitable examples.
-GG Soll & G fFE JohR TERA Sl & Gidl 9 98 82 SUg
30N Fied AT iy

Describe any five factors that affect the population distribution of a place.
frel T & SgE foaan ot ywifad & 9 fR=l 9= ekl w1 9u

ifeq|

OR (441)

"The variation in distribution of population within India is highly remarkable".

Based on this statement explain the broad regions into which India can be grouped

on the basis of population density.

. . . ~ . . "
A ¥ SEe & fam fae-fae e § srareme w9 aren s 21 e

FHUT & ITTIR, ARA Sl U T o SMHR T Fic S el T 1 AT

EAlS1e
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24. How did the Socio-religious movements bring about remarkable changes in the

society and helped in the formation of Modern India? Explain. 5

IS To oifier STieiel g/ Sl § 31U eld o fhd YR 69 9Rd
i TATTA H HEE hi? AT HifC|

25. Describe any two mass movements that contributed to intensify the struggle for
freedom in India. 2Y2+2Y>=5
IRA & Al WO H MG GEE HA A Rl & SH-SRed # v
hITSTq |

OR (A4l

When was the Indian National Congess formed and by whom? What their the
main demands. 1+1+3=5

TR T HIUH FT G hel S o & gR1 gE2 ST g&T A odi?

26. Highlight any five major achievements of India in the economic field since

independence. 5x1=5

AN o 5 9 9IRd g Afefeh & | i T2 forgl W9 STUAfSE T Th]
SIfeTq|

27. How is the President of India elected? State the executive powers of the President. =~ 2+3=5
I & Teafd o1 feier e YR foran Siar @2 Usgufa &t et v
1 Iee@ hifeu|

28. How farisit correct to say that the Supreme Court is the protector of Fundamental
Rights and the Guardian of our Constitution also? 2Y2+2Y>=5
I% HEdl HEl q% 3(ad T o S e Hifdw SIfHeRl 1 e a1 TR
Hfaem 1 W o €2

29.  Which communities come under Other Backward Classes (OBC)? Who identified

them? What was the basis of their indentification? 2+3=5
#H 4 gIEE o e o (enaiH) & faid o € St YeeH feRen
Hi? 39 Y8 hl SR T 417

OR (¥41)
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Who are Scheduled Castes andScheduled Tribes and why are they called so? Who
is responsible for their meserable plight and backwardness?

Fgfaa Sfqal 9 Tafad SAsfaal &b € 3R 3= 39 98 o Fa S S
22 SRl 3H I T9 SR fuseu o SRR e @2

30. Two features (A) and (B) are shown on the political outline map of India. Identify
these features with the help of following information and write their names on the
lines marked on the map.

(i) (A) The place where division of Congress took place in 1907.
(B) The place to which Veeresalingam Kandukuri belonged.
(i) On the same outline political map of India locate and label the following
place.
(©) Chauri Chaura the place where Mahatma Gandhi called off the Non-
cooperation movement. 2+1=3
IRA & e A TR I AT (A) 91 (B) TUMC T &) A= & T g
& YN W, 3= IgIT e 39k Tel a1 < T Tanedi | fafem)
(i) (A) T TJM el 9RAT Hg &1 e 1907 § gam
(B) 9% TIM &l ¥ dRAfiTH Hhgehl w1 Hae ol
(ii) feu U st amfes ® F=fafaa dsmor &t sifera wifSe aen 9t ™
fafey -
(C) B I : 9% TN SRl e M 4 SHedn e # 6%
feram

For visually impaired students in lieu of Q. No. 30

. ¥ 30 & N W gheantiq faenfda & fau demfeus gom

(i)  Write the year and name of the place where Gandhiji declard to launch "Quit
India Movement".

(ii) Jyotiba Phule belongs to which place?

(

(i) 39 a9 ud WH & 91 fafen ser met St A 9Ra sig en<ied i
H[TOT i |

(ii) SHAIfqa Fod ford T&F 9 9d9 W@ 9?

(iii) forg o STUSH 3 ot 75 TerT 5 feoett w1 wenfud fman?

iii) In which year did the British relocate their new capital, New Delhi? 3x1=3
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31. Two features A and B are marked on the given political outline map of
world. Identify these features with the help of following information and
write their correct names on the lines marked in the map.

(i) (A) Animportant Bauxite Industry of South East Asia
(B) An important coal industry of Europe.
On the same outline political map of world locate and label the following with
appropriate symbols.
(ii)) (C) Canada:an important iron producing country.
(D) Nigeria a petroleum producing country 2+2=4
(i) TER & ToHfdd @1 AEFET W I A ( B) T T € e &
Téﬂjﬂ%*aﬂwmﬁwﬁﬁﬁmmﬂﬁwﬁﬁ et R fafau)
(A) ZfEgor gefl TR &1 T aerEe S|
(B) J9 &1 TH HS(OI‘i\Ui Il M
(i) U U GOR & S qeHiae qrtas W) Fefataa o suge fawel g
femmza qen 39 W fafem)
(C) el : Th HEYUl oile Scaeeh <0

(D) TESATE : U USIferad IcIeeh o491

Alternative question for visually impaired students in lieu of Q. No. 31

W ¥ 31 &% M W ghearfa faenfia & fau Jemfeus o

Mention an important copper producing country of South America.

) Name the cotton textile manufacturing country of Africa.

) Name an important iron & steel manufacturing country of South America.

Name a petroleum producing country of Africa. 4x1=4

)

) <feror SRR & U IR IURSE W HT St FHifeu)

ST & Tl 9% IS 91 1 99 fafau)

Iferor SRR & Uk Hequl iiE-3E9d ScURs <91 i AW fafEm)
STHIRT % Teh I 3R 290 sk 99 fafam)
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Roll No. (3THIeh) India-Political (¥RA-TsT-feh)
Map for Question No. 30 [9.8. 30 & fau AMf=]
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World-Political (SHR-THfdeh)

Roll No. (3TJsRHIh)

Map for Question No. 31 [9.8. 31 & fau AMf=]
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